03/01/14
THM 348 Service Operations Management
Final Exam
1. What tool can be used by management to track change in an important process variable over time? (1 Point)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

2. What are the main differences between a “Histogram” and a “Pareto Chart”? (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

3. What is “6 sigma” method? Who first was known as to successfully adopt this very method? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

4. Contrast “Abstract Questioning” to “Situational Vignette”? (2 Points)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
5. Define “Personalizing Customers”. Come out with a situation where personalizing customers’ needs are satisfied. (2 Points)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
6. During the past season, Deniz Club did not achieve very high occupancy rates despite a reservation system that was designed to keep the hotel fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Resort Hotel was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.08
	0
	0.00

	1
	0.13
	1
	0.10

	2
	0.11
	2
	0.25

	3
	0.14
	3
	0.42

	4
	0.10
	4
	0.51

	5
	0.12
	5
	0.59

	6
	0.09
	6
	0.75

	7
	0.08
	7
	0.85

	8
	0.06
	8
	0.89

	9
	0.05
	9
	0.94

	10
	0.04
	10
	0.98


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 70. 

a) Calculate the Expected Number of No Show Rooms. (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) Calculate the Expected Opportunity Loss. (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
In order to avoid some of this loss, Deniz Club management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Deniz Club has made arrangements with a nearby Club (Zarife Club) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 150 per turned out guest.
c) Fill the below Overbooking Loss Table (3 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.08
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	1
	0.13
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	2
	0.11
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	3
	0.14
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	4
	0.10
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	5
	0.12
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	6
	0.09
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	7
	0.08
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	8
	0.06
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	9
	0.05
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	10
	0.04
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
7. How can you balance more or less demand and supply by increasing customer participation? What disadvantage(s) that service operation companies face while increasing customer participation? (3 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
8.  List any 2 advantages and 2 disadvantages of “Focused Network”? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
6. Host governments play a significant role in restricting the growth of service globalization. Can you come up with 2 examples clarifying this point? What might be the rationale behind which host governments actively act as to restrict the growth of service globalization? (3 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Good Luck
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